


\ )\ V’ﬁc/vQ
L — selt_ediyint —

™S < "°)V\vax ¢ o

oY Mo onad
u, Lv) = (fm,v)

Le=Ad —>FF°
(o, Le> = (L, &)
Cao, S =dAd, £
Ma,)=A(b, &)

()\_E)(LA?,:F)::O = /\:I:;/\ e o
——

bS]



Xa s D,
% <®W/C\>W> :O
)‘\M/ d?w\
%l/&m:)\ e
(walL@WB“ (LCbn/dPM) (’_ﬁ)w‘l -

\’
( 3\>M1 /\WC\>M> o ( )\,\39,\ / C\}w)

/\\M (Q)\A,ﬁDM) p Am (ﬂ%\/d?w\)

A \S\W)(@A/®M>f;"7 = (® ,d )=
- 24\ sz') U
\/\%/\) L

0 )Js)(([(%//#j#\«

2%



LE9l= (Py) « 4% =AY rr o1 0

{x L —
. alke = (\M*Q) ::.('”)'"'")
¢ l .
o Q)-[‘g): 0
N eionvnlnee &, ‘Q/;?w Ponction L"q>~n :'A‘Pv.

(wa)("dz/\)'—:' L’dv‘,x‘:by\}
(&, (Pcb\:)’.\.‘i]—m\n) = :\—M (P }¢h>

(Qo‘d?iy*‘]‘q‘"bw ’bw} — )sv, (QP\,\)&?M)

o~ CpaiYr %o, &)
w = — -

(Z&w 2 ex..)






]
©our 1ey Seviel

w -
g% y SlV\V\X' Cyn % } (._1;/‘;;) — A (e
e
ﬁ N
(x) = _2~ + < anGanx £ b Si,nyx
Vl_—_[
" ol ) fi
-C[X)&Y = S 2 dx o Z: A, S (fu’)ﬂxdkfbh & Sy d y
= - “a -5
A T
S fexIdx = T, = A, = U J Lex) o\x
-% )
7 -
GCoswx S__ .
-
LY ® S l 5
S £0x) Comudne = Mm/céx *ZO‘ Cnx Comse it 5, | S Gyume o
- vz ~h -

-‘v

[

-

Y



W

O\W:% S ?"C)C\ow\xAX

-%

)

, ¢
7 ’ - /J“//o(’JC/‘/./‘ae
(n/)([./"dl/’ S'\V\‘V‘Ax ‘y‘ . v .

j‘ £ex) Swanx dx

) / /’ \"'0”3

foy= e 0 7T a, %WHL i
r://;}(//'l A nel .
v ) A, = i__ S\ -g(')c)&'x /:J
| v "o I i
. \ 7 M AW -5 T 2 %_;
LR
\ w
\ov\: -VT_ g 'ﬁ(’)ﬁ) Smnx ax

%



X
fovrm e, - ncxes

I(X-F?‘GS—:Q(X-) -‘-T« | .

! 5 ! v
" ¢
L [ od
O {
~ ! (rlcv\f ¢ J

SIW/J/:/’/"}"’{')V(J"/;VU‘%L (o, %) 2 rbs) ,fg’l
T r
/ 0’7‘\)) 16 <J)r> [O\,L] r’gv‘d N o

Q‘;,_:;?»,a),w(/ -
2

\

Ca ®) = (a,k) U(oxl,lga) o~

4



mK(X):x , - XL

® " 2 | ®
) 0 S x &x = 1. x { =0
-0
L) [
a, — A S?c,o)&,,mcé,,d':_.\,—s x Canx dX — 0
W -5 w b:%
by
w w A ) h
\ : ’
L Sy FC¥)rmmx d ¥ B - nxda
“ " - h 9
® 2 3 %:\.\V\?C
— = T % R T N A v | Canx
o \B\ .
nw 0 - 7 d\any
:z.g,,i@w“l:agp.) n?
n “ w




00

T

m—o—\y

-T

_ Z V' Y [N [y 1}
-2'_‘: _;(.-19 Swmnx = ’Z%gw\x_‘_sw\zx-\—‘/ Sy 3y

2

-—a—*’ \\s}

- e &~




clc

clear all;

f = inline('x');

x = linspace(-pi,3*pi,200);
x1 = linspace(-pi,pi,100);
x2 = linspace(pi,3*pi,100);
y = [f(x1),f(x1)];

plot(x,y,'r-');

hold on;

S = 2*sin(x);

for k=2:20
plot(x,S); hold on;
S =S -2/k*(-1) k*sin(k*x);
pause;

end
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